Connecting pieces for push-on pneumatic measuring lines

Areas of application
Pneumatic systems

Features

e PDS offers an overview of connection components for plug-in measuring lines

Type

Description

0193822 000*
0193830 000*
0193832 000*
0193834 000*
0198142 000*
0213654 000*
0277101 000*
0277102 000*
0277791 000*
0296980 000*
0296982 000*
0297112 000*
0297162 000*
0297508 000*

Connection nipple, G ¥& external, for plug d = 6
Connection nipple, M4, for plugd =6

Connector G %8 external, for plug d = 6
Connector Rp ¥ internal, for plug d = 6
Distribution piece, 5 x G ¥& internal

Blanking plug d = 6, long

Blanking plug d = 6, short

Socket for plug d = 6, for panel mounting

Plug d=6 for tube di = 4

Connector M10 x 1 external, for plug d = 6
Connector M10 x 1 internal, for plug d = 6
Connection nipple, M4, for tube d = 2.3

T-piece; 1 plug; 2 sockets d = 6 mm for various pneumatic uses
Pneumatic service set: adjuster & tube removers

Accessories
5658803 000
5658804 000
5658805 000
5658806 000

1m polyurethane tube, colourless, for pneumatic use
1m polyurethane tube, black, for pneumatic use

1m polyurethane tube, red, for pneumatic use

1m polyurethane tube, green, for pneumatic use

) Dimension drawing or wiring diagram are available under the same number

193822

193830 193832 G 1/8 A

296980 M10 x 1

2
!

9%
&

%

|
X
%)

5

%

"%

,,‘
9a%%
xR
35
58
%
K

..
o5
5
XX
2

255

252
<%

2%
XEKL

G1/8 A
|

,“
%
KL
‘."0
92909
2
%%,
%
KX

7
%
%5
oo
SRR

6
%

250
0!
5
QAKX

ST,
XSS
20203
o2l

o
%
X

XRZ

[Eﬂ

%
10%%%
X2
M4

193834 Rp 1/8
296982 M10 x 1

277101

ApxaHrenbck (8182)63-90-72
ActaHa +7(7172)727-132
Benropop (4722)40-23-64
BpsiHck (4832)59-03-52
BnapwusocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorpga (8172)26-41-59
BopoHex (473)204-51-73
EkatepuH6ypr (343)384-55-89
MBaHoBo (4932)77-34-06
WMxesck (3412)26-03-58
KaszaHb (843)206-01-48

250
%
X
K

R
82
030083
RRX

%
1%
%%

M02430
M02432
198142 213654
AN
19 1%
B
< rocox S
5 - — i e B
© 14 X
KX K5
® ks
= 9% a1 %%
—
- Of M02435
M02433
e
1000 %%
ke v
[otote%!
1000 %%
ke L —f—_n. w
feseeeed < < Q
2005500 < ©
1] X< - I — 4 4= -
e =
AAAAA O O
M02439
M02436 A

M02437

Kanunwuhrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KpacHogap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
Ivneuk (4742)52-20-81
MarnuToropck (3519)55-03-13
Mocksa (495)268-04-70
Mypmahck (8152)59-64-93
HabepexHble YenHbl (8552)20-53-41

HwxHuin Hosropog (831)429-08-12
HoBoky3Heuk (3843)20-46-81
Hosocnbupck (383)227-86-73
Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MNeHsa (8412)22-31-16

Mepwmb (342)205-81-47
PoctoB-Ha-[oHy (863)308-18-15
PssaHb (4912)46-61-64

Camapa (846)206-03-16
CankT-lMeTepbypr (812)309-46-40
CapatoB (845)249-38-78

EpvHbIN agpec Ansa Bcex pernoHoB: sxr@nt-rt.ru || www.sauter.nt-rt.ru

69.600

CwmoneHck (4812)29-41-54
Coum (862)225-72-31
CraBpononsb (8652)20-65-13
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbsaHoBck (8422)24-23-59
Ydba (347)229-48-12
YensbuHck (351)202-03-61
Yepenosel (8202)49-02-64
Apocnaenb (4852)69-52-93



